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Question Number : 1 Question Id : 3354724731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are 12 Jyotirlings in India of which two are in Madhya Pradesh. They are located in: | 9Ra § 12 TG 00 &
| 8 & o me uea # e 1 ¥ e wuet W R §

Options:

1. ¥ Bhopal and Indore | {0 3¥ 2218

2. % Ujjain and Hoshangabad | 3= ¥ glammare
3. % Omkareshwar and Indore | ei@Reay T EaK
4. ¥ Ujjain and Omkareshwar | 3= ¥ affem=or

Question Number : 2 Question Id : 3354724732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhere is the headquarters of Forest Survey of India located? | W 1[4 &+ He40T 1 JEIT0AT BET #9d 57

Options:

1. % Shimla | f9meT

2. ¥ Dehradun | g0

3. % Mysore | #ET

4 % phmedabad | SEAEG

Question Number : 3 Question Id : 3354724733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is the work of Tulsidas? | AT & & gadier &1 @1 #17 4 37

Options:

1. ®¥ Ramavyana | e

= % Ramcharit Chintamani | TR =ETE
=, ¢ Ramcharit Manas | THi AT

4 ® Ramchandrika | TTHEHET

Question Number : 4 Question Id : 3354724734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Marhble rocks are found near the town of | T E g

Options:

1. # Pachmarhi | TaRgT
2. # Balaghat | STATE
3. ¥ Jabalpur | SEAgY

4 % Sagar | 9K

Question Number : 5 Question Id : 3354724735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Hindi Day’ is celebrated on ______________ of every year. | ‘Teral foge @@ ad _____________ T AT 1A T 2]

Options:
1. % 14th September | 14 Wdew
2. % 15th September | 15 #daw
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= % 16th Septemnber | 16 Fdax
4, % 17th September | 17 #dew

Question Number : 6 Question Id : 3354724736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The supreme commander of the armed forces in Indiaisthe_________
Options:

1. % President | TTedf

2. % Prime Minister | WA

= # Defence Minister | T&T 73T

4. % Mone of the above | JUXF & & #1278

Question Number : 7 Question Id : 3354724737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
who becarmne the first Indian to qualify for the final round in the Javelin Throw at the World Championship

20177 | 50 & 14 e ATeEET 2017 | A9 o7 § BIEdd U498 & 60 IR e T ool 9 14 &7
Options:

1. ® Kashinath MNailk | FTHm T58F

2. % Neeraj Chopra | = FUaT

Z. % Narender Ranbir | T8¢ TET

4« Davinder Kang | 2iEet &

Question Number : 8 Question Id : 3354724738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the only Indian to win an individual gold medal in Olympics? | saTE 7 ST S0 T2 SAid= aTAT THHT

AN F

Options:

1. % Abhinav Bindra | 1= f&ar

2. % Rajyvavardhan Singh Rathore | TF=aas= W5 a1t
3. % pPT. Usha | dTaT39

4, % K.D. Jadhav | &F2LATT

Question Number : 9 Question Id : 3354724739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho was the Finance Minister in P.V. Narasimha Fao’'s government when the financial sector reforms were

kick-started? | Je TS ga # a1 & G 900 A7 8 & 39 G0 O . TR Od & SR | daedt & e
Options:

1. # P. Chidambararn | o1, TEeaed

2 % Pranab Mukherjee | T0Te g&=1

3. % ND. Tiwari | T4 . [dant

4. % Dr. Manmohan Singh | 2T A9AGT 45

Question Number : 10 Question Id : 3354724740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

21st Dec17 Shift 2



21st Decl17 Shift 2

The %rst cormmputer-literate panchayat in ndia 15 located in ________ .| AT " UgAr T -HTHT T #

Options:
1. % Karnataka | &ic®

Z % Maharashtra | AgWIE
= ¥ Kerala | &0
4 % andhra Pradesh | a7e e

Question Number : 11 Question Id : 3354724741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Rewa Kund lies in jargE

Options:

1. # Ujjain | 3=
2. % Indore | 21

= % Chanderi | 22T

4. % Mandu | Ag

Question Number : 12 Question Id : 3354724742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich cne of the following districts does NOT belong to the Malwa region? | FaimRas # & #--971 FaaT Alear g3 #

EHEIE

Options:

1. ¥ Dewas | @9
2. % Ratlam | YadH

3. ¥ Mandla | AVEAT
4. % Shajapur | A=

Question Number : 13 Question Id : 3354724743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Khajuraho dance festival is held every vear. This celebration is usually held in the month of
| ERTGT 90 Ud 5 A AR AT 8 Ag U W T B BT AT 2

Options:

1. ® Decernber | foaar
2. % June [ 54

=, ¥ February | Beaif

4 % September | FTWER

Question Number : 14 Question Id : 3354724744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhich of the foll-::-wing states wor the 'Best State (First Prize)' aveard at the Naticnal Tourism Awards 2009-107

| TR weed qrE R 2009-10 # Fieas oeat # & g T0a 7 ST T (WH [ERR) % [EeR Aar?
Options:

1. ¥ Madhya Pradesh | Hea 0

2. % Maharashtra | AgRIE

2. % Gog | AT
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4 % Uttarakhand | 390G

Question Number : 15 Question Id : 3354724745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Sun Termple of Raheli is located in _____ TRt Al e

Options:
1. ® Seoni | AT
2 ¥ Sagar | 9K

3. % Jabalpur | SEAYY
4. % Ujjain | =

Question Number : 16 Question Id : 3354724746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich national park is situated in the district of Mandla? | F=a1 Fer # F19 97 (9T 324 w90 27

Options:

1. # Pench | =

2 % Ken | &

3. ¥ Kanha | ®gT

4. % Bandhavgarh | aTeEmg

Question Number : 17 Question Id : 3354724747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Institute of Indian Tourism and Travel Management has its head office at
T T G _____ #

Options:

1. % Nellore | S#AR

2. % Bhopal | #UT&A

2. ¥ Gumalior | =TT

4 ® Gog | MET

Question Number : 18 Question Id : 3354724748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which book, also called ' Datiawakara ', makes a mention of Datia? | 'idEa Tt art & of e, i
T Joold Tl 57

Options:

1. ¥ The Mahabharata | AT
2. % The Vedas | %

2. % Rarmavana | THE

4, % The Upanishad | 39-ug

Question Number : 19 Question Id : 3354724749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Battisi Bawrl, a water body, 15 situated at

Options:
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1. % Anuppur [ SHUQT

2. % Ashoknagar | STl
3. % Chhatarpur | Faeq7

4 ¥ Chanderi | @&

Question Number : 20 Question Id : 3354724750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is called the 'Queen of Satpura’? | FaiRET # & et waqsT # T FgrawT87
Options:

1. ® Ujjain | F=

2. ® Itarsi | ZeRATl

Z. % Bhedaghat | #=TaTE

4. % Pachmarhi | TeHET

eneral Maths and General Aptitude

Section Id : 33547299
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 33547299
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354724751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ajay started a business with Rs. 20,000, After 4 months his friend Ajit joined the business with Rs. 30,000 as
capital. At the end of the year they incur a loss of Rs. 3500. A%;::l‘j.?’s share in the loss is: | 39 20,000 0 &
T TR I T 4 ATg Walld Sa@T [0 S/ 30, 000 F0 F1 Q=i o 99 A1) § Jiiia 51 7am @y @& &F § 35 3500 30
T BTl §21 T8 g H aFrer T fg e g

Options:

1. % Rs. 3000 | 3000 Z

2. % Rs 1400 | 1400 93

% % Rs 1700 | 1700 Z

4 % Bs 1750} 1750 =0

Question Number : 22 Question Id : 3354724752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Solve the given equation:/ T¢I I FHIGLOT & 5ol

x_—B s x—12
3 7
Options:
1.¥5
o %3
3 %7
4 % g

Question Number : 23 Question Id : 3354724753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The area of an equilateral triangle with side ‘a’ is: [ ‘@’ Y1 & Uk GHeg (AR 107 BT GHHH &,

Options:
1 % 3a’

o w *‘EI3 E.J.'Iq'

2 ® 3/2 *52

4 % 3a/4

Question Number : 24 Question Id : 3354724754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the coefficient of x° in the Expressicnﬁx: —2x+1?/9€ 6x  —2x+1 #F x* & E‘IUTIT:F =T

87

Options:
1. %0
2 %1
3 %2
4 v g

Question Number : 25 Question Id : 3354724755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the value of 22*32*527 / 22*32=519 3T ATA %‘7
Options:

1. % g00

2 % 30

2. ¥ 900

4 % g0
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Question Number : 26 Question Id : 3354724756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | sfi&a e

15, 560, 40, 20, 20
Options:
1. % 22
=z ¥ 33
3% 44
4 % 55

Question Number : 27 Question Id : 3354724757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Simplify the given expression: / fGU 17 9g &l TId o

Options:
1.% 1/2
2 W2
3% 12
4 % 3

Question Number : 28 Question Id : 3354724758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The average of the 7 numbers 313, 513, 713, 913, 1113, 1313, and 1513 is; | 7 @&=gmeff 313, 513, 713, 913,
1113 1313, 1513 97 3i9a &

Options:

1. ® 213
2 % 1013
3. % 953
4 ¥ 913

Question Number : 29 Question Id : 3354724759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the difference between the place values of the two 7's of 98765477 | 9376547 H &1 7 & wTi-® AF! &
T T 31T FAT 57

Options:
1. ®# 59999

2. % 59998
3. ¥ 59993
4. % 59390

Question Number : 30 Question Id : 3354724760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

At a school examination, SO0 boys and 300 girls appeared. If S0% of the boys and 80% of the girls passed,
then what is the overall percentage? | U fenerd wigl # 500 w2 3T 300 @il Iuledd gUl 9ig 50 % fod &t
£02% FSTerT FeI01 g1, T ST Wid I T 57

Options:

1. % B5%

2. ¥ 51.25%
2% B0%

4 ® 57 5%

Question Number : 31 Question Id : 3354724761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Three tirmes a nurmnber less than seven is 32, What is twice the nurmber? | TF 47 % o1 -7 1 A1 § 0 T 1T
32 UTH BT 81 HEAT Sl ST FET 407 37

Options:
1. % 12

2 %17
3 ¥ 26
4 % 95

Question Number : 32 Question Id : 3354724762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following has exactly & vertices? | g & & frad 8w 6 T4 57
Options:

1. % Triangular prism | i T

2. % Pyramid | TRTTHE

3. % Cone | 4F

4. % Cuboid | TETH

Question Number : 33 Question Id : 3354724763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arun and Anu stay 150 kim away from each other, So they decide to meet in a place somewthere betweeern, If
Arur rides at 20 ko per hour and Anu I'ldES at 40 kil per hour, then how long will it take for them to meet? |

mﬁraﬂw@%ﬁlmﬁﬁﬁfﬁrg wﬁq%zﬁaﬁﬁr@rwmﬁﬂﬁmmaﬂ%%ﬁ IfE & 20 TRET e
o T O S &1 40 Tt uie e o e o A wee € a1 3wy Theer # fepaar wwe s

Options:
1. ® 2hours | 2 ©¢

> % 2S5 hours | 2.5 ¢
2. ® Thours | 3T
4 ¥ 3Shours | S5 H

Question Number : 34 Question Id : 3354724764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
There are 40 gift options in a gift palace, out of which 25 are very expensive. What are the chances that an

expensive gift is chosen when selected randormly? | Waﬁﬁfﬁw 40 IURRT & Torwen 3, e & 25 a5 7l gl
el AT =2 TR ST o1 Uk Hgil JURTE 3 =1 § 1+ ol SPTey Tt 37

Options:
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1. % 28
2 % 38
3% 12
4 ¥ 5|8

Question Number : 35 Question Id : 3354724765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The HCF of two numbers is 42 and their LCM is 1260, If one of the numbers is 210, then find the other
nurmber. | & HEATST BT HgH GHNEG T 42 § 3T 30T oood SR A 260 §1 Afe UF S 210 3, 1 e §d7 A1 #1]

Options:

1. % 205

2. ¥ 252

3. % 215

4 % 213

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 36 Question Id : 3354724766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The L.CM. of 18, 28, 35, 60and 100is: | 18, 28, 35,60 Td 100 T Fgad THIETT 7.

Options:

1.9 6300
2. % E200
2% 5400
4. % E500

Question Number : 37 Question Id : 3354724767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sohan’'s project is a circle shape, inside which a square is inscribed such that the vertices of the square lie on
the circle. If the area of the circle is 154 sq crry, then what is the area of the square inscribed? | EARISED

T I ST o &, Formdr fiae Ter ol e e ¢ TR a1 oF @i I UY 51 Tie O T A% 154 a1 9Ht g, d7 Jor it oy @
HAHA T G Y

Options:

1. % 196 sq cm | 196 a7f gAT
2 % 121 sqcom [ 121 a9 g4
3. ¥ 98 sq cm | 98 7 |AT
4. % 100sqcm | 100 37 A7

Question Number : 38 Question Id : 3354724768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Rajini draws a star. She wants to know how many slant lines she drew? /

T o U TN ST9T| dg AT Iigal & o6 38 fohaar ToTsr IEw g@i=r?

Options:
1. % 8
2 %5
3. ¥ 4
4 % 3

Question Number : 39 Question Id : 3354724769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& national swirmuTer Swirtls dowrstreamat 10 kmfhr and upstream at 2 kanfhr. How fast does he swim in still

water? | U& 30T T ey o Team H 10 TRt deT ol o vey & e e H 2 e e v R aw g ag
ToFaT a1 3T &

Options:

1. % Skmyhr | 5 fHEET
2. ¥ §kmjhr | & Tt T
3. % 7kmfhr | 7 AT ERT
4. % glkmjhr | 8 &t/

Question Number : 40 Question Id : 3354724770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If it takes 20 seconds for a train which is 200 m long running at a rate of 25 m/|s to cross a bridge of length x

metres, then what is the value of x7 | Ff¢ 25 Het/¥F0e & Mid & o7 GF 300 Hiex dal (mmal, x Hiet @rrs & §d &1
TR & § 20 SF0E &9 1 5, T, x T 0= FAT 57

Options:

1. % 100m | 100 AT
2. ¥ 200m | 200 AT
3 % 300m | 300 #ter

4. % 400m | 400 AR

Cereral Hindi

Section Id : 335472100
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472100
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354724771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TR -
Options:

1.9 33

= % 37

3. % 40

4 % 38

Question Number : 42 Question Id : 3354724772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 2 FT a2 T AUHTAT FEd o)

Options:

1. % oo
o % Ad
3 ¥ Agy
4 % gz

Question Number : 43 Question Id : 3354724773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SR & T AT T H T Faw T ui g1 87

Options:

1. % g
o % I
39 T
4. % ggTmT

Question Number : 44 Question Id : 3354724774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TeReT I T 4T o ST AL o HIET A O T w5 4T 27

Options:

19 a3
2 % 94T
3% gHT
4 % g+ir
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Question Number : 45 Question Id : 3354724775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“TEed | e, I wAT B’ 5H AT § ST T w1 e

Options:

1. % gt
2 ¥ dE
3 % q

4. % oTmTe

Question Number : 46 Question Id : 3354724776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el T U T W 1Y

Options:

1. ¥ g
2. % T
3. % gan
4. % HHEM

Question Number : 47 Question Id : 3354724777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

 Gead | W IAaTE g § @ | e
Options:

1. ¢ 7

2 ® T

3 ® g

4 % gy

Question Number : 48 Question Id : 3354724778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

* T WA ERT R R o 6 U g M g @ arg?
Options:

1. g

o % g

3. % gEa

4. % A=

Question Number : 49 Question Id : 3354724779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
* S W A g g H H @ A gy
Options:
1. % ogg + T
2 % ofg + WAR
3 ¥ o + TR
4 % o+ TAR
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Question Number : 50 Question Id : 3354724780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘g @ T aeg PR A A arge
Options:

1. % avd

2. % g

2 ¥ Farw

4. % gar

Question Number : 51 Question Id : 3354724781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT Wed T | &1 S Mg H  FT B

Options:

1. %
2. % o
2. ¥ wiea
4. % e

Question Number : 52 Question Id : 3354724782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TET Jee # oy # & @09 97 @A &Y

Options:

1. % ety gara
o, % U aHE
3. % fmrEnE

4. ¥ Joyey qa

Question Number : 53 Question Id : 3354724783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR OT {5197 WETad &7 oif g H & s ar g7
Options:

1. ® TET O gl ®mAT

o ® iF o edET

3. % T wrET

4. & dET T FEaT

Question Number : 54 Question Id : 3354724784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘BT T 4R T W H d R AT g?

Options:
1. % e
2 ® aETE
3 ¥ aEEd
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4. ® s

Question Number : 55 Question Id : 3354724785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T ¥ T FTE HT qd el
AT 5l TelTer AT Tl #, Tl e T S|

ECRtE AT R R R
Options:

1. ® gedea

> % oy

= ¢ T

4 ® g T

Question Number : 56 Question Id : 3354724786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1T TTSH T qHST B Al &
TEATEI AT YF AN,

T & ST O 7 A A1

H I A7 AAFR 51 Fal ey g7
Options:

1. & A aEFr

2. % A SAw

% % HIF aEa

4. R IoUgT STAET

Question Number : 57 Question Id : 3354724787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“ areatiey H @i AT S 2 -

Options:
1. % ad
2. % aeg
3. % arar

4 ¥ s

Question Number : 58 Question Id : 3354724788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ST dAlenii w1 Jgl anf gy - A AT dE A gen ey 20
Options:

1. % SO g1 AT T T H AT S

2 % aET Rl W arrie Aoyl O AT s

3. ¥ GO-TRT ¥ g T TE ST et

4 % o qeaTed F G HEEAdT WTH - STl sl
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Question Number : 59 Question Id : 3354724789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

12 T=at | U 91T WS 51 o 0.0 1 T Sw AR -0 B 9T 57

Options:

1. v & - wem

2 ® UE sarer

o é:ﬁfﬁ_m

4. % gig®

Question Number : 60 Question Id : 3354724790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
________ T g & T W AT AT & FHEET qaad & & FIE w0 AR a1 2l

Options:

1. % Foae

2 ¥ ugag

3" o T

4, ® AR T W TRl

Fural Economy and Fanchayati Eaj

Section Id : 335472101
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472101
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354724791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After the 73rd Amendment to the Constitution, Madhya Pradesh was the first state to conduct elections to

Panchayats in the year _____ J e # 733 Hate e At o gt @ o0 e O aTET 3l 0o WEeT
T2 4

Options:

1. % 1940
2. ¥ 1994
3. % 2000
4. % 2005
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Question Number : 62 Question Id : 3354724792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When was Madhya Pradesh Fanchayat Act passed to introduce 3 tier systermn? | FEETT =G T T 202620 T
T B Hed UoS T Sreas ':rri}'z—cr

Options:

1. % 1962
2. % 1973
3. % 1985

4. ¥ 1993

Question Number : 63 Question Id : 3354724793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which armon thE fOllDWlﬂ 15 the maxirmum cultivated horticultural crop in Madhva Pradesh? | 78T ‘;I%:ET ﬁ

TereraA Gdt H# BT A 87
Options:

1. % Onion | ™

2. % Cabbage | T

3. ¥ Potato | #1T

4. % Tomato | THRET

Question Number : 64 Question Id : 3354724794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich irrigation rc:uect of Madhva Pradesh is known as Shahid Chandra Shekhar Azad Sagar project? | H&T
AT o R RS TEARET AT, T U1 & A0 & FH7 ATa7 57

Options:

1. ® Bagh project | aTe qica=mT
2. % Bavanthadi [ 992t

3. % Dejala deora | T SIRT
4 ¢ Jobat | e

Question Number : 65 Question Id : 3354724795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Jute cultivation in India is concentrated on the delta area of which of the following rivers? | 9RT # [T & WdT &

Torg Frgfeia o & T 987 & 2w 89 1A 4o 9T R7
Options:

1. % Ganga | T

2. * Brahmaputra | #EF

2. ® Narmada | 9821

4. % Krishna | FeT

Question Number : 66 Question Id : 3354724796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Thich amon%e following schemes was restructured as Pradhan Mantri Awaas Yojana -Grarin (PMAY-G) |

TRTRTET B & T ST el W 01 SITeTE DA (PMA -G 3 S0 H QA iad T 1T 5
Options:
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1. ¥ Indira Awas Yojana | S1etT STET T

2. % Mahatma Gandhi Gramin Awas Yojana | AgTeAT Tt TTHTT Same aieT
% % Housing for All | "a9 o7 @

4. % Rajiv Awas Yojana | Tle SITame TheT

Question Number : 67 Question Id : 3354724797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following states won the 10th National Award for excellent work in Mahatma Gandhi National

Fural Employment Guarantes Act, 2005 MGNEEGA) in 20157 | AFEAT Tt TTHIT TRATTE Tt A= 2005
aﬁm%mﬁzalsﬁmmﬁﬁqﬁﬁmﬁﬁﬁmmﬁmm RERT A T?

Options:
1. % Madhya Pradesh | Hea 0

2. % Gujarat | e
3. % Rajasthan | eI
4. % Agsarm | SEH

Question Number : 68 Question Id : 3354724798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a Sub-Mission of MNational Mission on Agricultural Extension and Technology

NMAET)? | THaiaa # § &1 |7 e &ff9 Uit Uaad e U Sl (@i aea I M ow e e
(TS C ) T I0- T 51 &7

Options:

1. ¥ Sub Mission on Agricultural Extension (SMAE) | @&-T0a &= Wit taad s (SMAE)

2. % Sub-Mission on 5eed and Flanting Material (SMSP) | Sa-THem 17 9ig Uz taem # i (SMSP)
% % Sub Mission on Agricultural Mechanization (SMAM) | Te-THae 17 THiFe=a HaTEaamT (SMAM)

4. % Sub Mission on Crop Insurance (SMCT) | Fa-THaM 219 10 Seamd (SMCD

Question Number : 69 Question Id : 3354724799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

&5 per the Econormic SU.I'VF'_‘}.F 2014-15% India has _______ Princi al regulated I'lI'ﬂElI'“}.F agricultural markets. |
g 2014-15 % aRJHR, 9T § THTEmTer H'@'H’gfﬂﬂﬂﬁﬁﬂ ﬁ%ﬁmﬁﬁ TTeTTHe Fi =) 2

Options:
1. % 87ES

2. % 3487
3. ¥ 2477
4. % 3482

Question Number : 70 Question Id : 3354724800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Agriculture Census 2010-11, undertaken by the Ministry of Agriculture, Government of India, is the
in the series. ;wwﬁ@‘ﬁwm T iy AT 2010-11, AT H 1

Options:
1. % third | Frer

= % giuth | a0
= ¥ ninth | 7T
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4, % tyelfth | agl

Question Number : 71 Question Id : 3354724801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An agricultural practice where in more and improved inputs are emploared OIl & Ziverl piece of land to raise

more output is termed: | UF T Tgid e 95d STEw Jeue 9g T & Thy e WA O% S77Erer Sii aga e
fmore ¢ L ¢ & LR

Options:

1. % Intensive Cultivation | M= =41

2. ® Extensive Cultivation | 9 4T
= % Scientific Cultivation | d=T-aF E4T

4. % Robust Cultivation | g3 d1

Question Number : 72 Question Id : 3354724802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhya Pradesh Cotton Control Act was enacted in
ST TIT 47

Options:

1. % 1945
= ¥ 1954
3. % 1963
4. % 1972

Question Number : 73 Question Id : 3354724803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

;;;;?:S- tlh\elvrrtﬁic.jgtor? quota for women's participation under MGNREGA? | AT & 954 AleaTell &l ATIERT &
o arfee @it o 87

Options:

1.v1(3
2 ® 12
3% 174
4 % 1110

Question Number : 74 Question Id : 3354724804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a function of The Madhya Pradesh State Agro Industries Developrient
Corporation Ltd? | FETET § 8 997 7 US40 T4 UHT S260 1 SaelTHe FI014SH Tol, & F19 751 o7

Options:
1. ® Manufacture of fertilizers | Fded! ®T IoUET

2. ¥ Research in agriculture technology | 3 Wit o ater
3. % Marketing of vegetables & fruits | Wieard] Ud B! F1 U0
4. % Marketing of Seeds | &= &7 Soma

Question Number : 75 Question Id : 3354724805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

21st Dec17 Shift 2



21st Decl17 Shift 2

What is the objective of Farmers’ Field School (FFS) established in M P 7 | e udar # weniug e dies w5
(TTBTIRTI) T T4 T 37

Options:

1. ® Teaching farmer's children | TFaM! & =gl 1 0 =T

2. ¥ Teaching advanced techniques of agriculture | &Y & IgT To-1F & a0 H ATTHTET AT

3. # Teaching rural population for income generation | TR TS T S A o 91F H AAENT 4T
4. % Providing adult education for farmers | ! @ dig &y 27

Question Number : 76 Question Id : 3354724806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which state of India is village panchayat known by the name of Halga Panchayat? | AWd & o tea § 1w
TITIT &1 5o UTad & AT & AT AET 57

Options:
1. Jarrmu & Kashrnir | <0 2w

2. % Harvana | gitzmm
3. % andaman & MNicobar Islands | SI20W U WEER 7 9
4. % Jharkhand | SIRES

Question Number : 77 Question Id : 3354724807 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which %%te hosted the ¥IIIth Agriculture Science Congress 20177 | 0 = 7 KllIth Y 999 &0 2017 &

Options:

1. ¥ Karnataka | Flc®

2 % Madhya Pradesh | e[ uga
% % West Bengal | TR @A

4. % Maharashtra | AERTE

Question Number : 78 Question Id : 3354724808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is meant by “White Revolution'? | 55T Wid° @7 47 I1c04 &7

Options:

1.p ® Cuantum increase in agricultural production | FY Je0eT § $12F The
2. % Boomin eggs production | 2T IoqeT # 947

% % Change of political leadership | T4Td® 9dcd | F2ama

4. ¥ Quanturn increase in milk production | ¥ ITUET # HIEA g

Question Number : 79 Question Id : 3354724809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The rminimuam Support price of which of the fOllDWiﬂ%CI‘O 5 has WNOT been raised by the union cabipet oIl
October 24th 20177 | 24 afger 2017 W dhg o Feme ﬁﬁ%‘ﬁ?ﬁmﬁﬁmﬁ?rqﬁw amefd g W1 g ag e

Options:

1. ® Wheat | g
2. % EBarley | =T
= ¥ Maize | AFT
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4. % Mustard | |eaT

Question Number : 80 Question Id : 3354724810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
cansad Adarsh Grarn Yojana was launched by the Prime Minister in 2014 on the birth anniversar of which of

%Tfollomng leacler? | HES STES TTH AT @1 AR TeTTaaT &RT 2014 # Taieiag # 9 T =97 & S-aie @f aums o
T 417

Options:

1. # Deen Dayal Upadaya | SiFgaled JUTegm
2. % Subhash Chandra Bose | WY =ig 519

2. ¥ Javaprakash MNaravan | ST ST
4. % Sardar Vallabai Patel | STgR dead4Ts Tod

Cornputer Knowledge

Section Id : 335472102

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Pand: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472102
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354724811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mouse isajan _______ I HEETE &l

Options:

1. ¢ input device only | &t gage f2aea

2 % output device only | T a3y ZaEd

3. % both input and output devices | ST Ud $3qe fSd5d giHl
4 % special device only | Téh T iZamgad

Question Number : 82 Question Id : 3354724812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Evte represent_________ AT Tt AT 81
Options:

1. % 1hit |1

2 ¥ g hits | 8 fagH

3 % 16 bits | 16 &g
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4 % gwords | 8 T4

Question Number : 83 Question Id : 3354724813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is an infected file? | HFHT B FATEGT 57

Options:

1.p # 4 file that has becormne corrupt and unreadable | 75 5 AT FYE 51 T8 5T 31 TG+ &% T &N
2. ¥ 4 file that is affected by a virus | UF STea A7 IT20H o TR 51

Z. % 4 file that is password protected | TF BISa Al TT6de &R gLiad &h

4 % 4 file that is cormpressed to a srmaller size | T BISa M Fie SR H TEUE & mar g

Question Number : 84 Question Id : 3354724814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of t%]?e following is showrl in CORRECT increasing order of bytes? | i ¢ & rad amgeq & agd #0 F1 T8
T T

Options:

1. ® Kilobyte, Gigabyte, Megabvte, Petabyte, Terabyte | [ralaze, EREe, HEEe, EEEs, HAEES
2. ¥ Kilobyte, Megabyte, Gigabyte, Terabyte, Petabyte | TFdlange, BETEe, THMTaTEe, TTaEe, UTEEe
o R Eiloberte, Megabyte, Terabyte, Petabyte, Gigabyte | TFAlETEe, BTTEEE, SXTEEe, UeTemEe, e
4. % Kilobyte, Gigabyte, Megabyte, Terabyte, Petabyte | ToFdlange, TTaTEe, AMMETEe, TaEe, TGS

Question Number : 85 Question Id : 3354724815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

It M5 Esecel, _______ ke;.r mowves to the previous cell in a worksheet or the previous option in a dialog bos. |
T G ST, T adaTE 1 TOwelT Set T e eI AT Uk STARTT e # Tger el T HE T o fony g )
Options:

1. % 5hift + Tab
2. % Cirl + Tab
3. % Alt + Tab
4. % Esc + Tab

Question Number : 86 Question Id : 3354724816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Word, a red wavy underline beneath a word indicates ______ .| AU T2 H, UF deg o A UF A1d Agta far
T A T FAT 3l

Options:
1. ¢ spelling error | Fd4T &1 T (U 220
> % grammatical error | SR i (TR 574

3. % highlighted text | Efdw o EEAES fHd0)
4. % heading style | Siiw T @1 (BIST G250

Question Number : 87 Question Id : 3354724817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following buttons is used to delete selected mail or folder in outlook? | ATIeq® H Hoids B T5
He o7 ISt 1 T2Tre F o ol Tore ae=T @ ST T a7 27
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Options:

1. %
o %
x
A
4 % @

Question Number : 88 Question Id : 3354724818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a web search engine? | && el & 74T 27

Options:

?1?.;5’ A s%ftware that searches for information from the world wide web | U® Qo) Al d68 J158 da o GaT &1
TG

2. % A zoftware that searches for docurments in the cormputer | UF dFea AT #LIZT H TETTer1 1 G BT 8]

3. % 4 feature that searches for text in a web page | UF Giof A1 UF od U8 H U186 AT (e &l @i HidT gl

4 % i feature that searches for text in the computer | U =T ST #2ET H OT8 AT CFHE & G a7 ol

Question Number : 89 Question Id : 3354724819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wha%t? is the purpose of inserting header and footer in docurmnent? | STFIAC H 527 X Fet 5460 T @1 Fa7 J59

Options:

1. % To enhance the overall appearance of the document | ETgHz & AT [EEEE F &5a¥ Fe o)
2. % To mark the starting and ending of page | U & 3 3% 1T &7 Bigd @ & f@m

Z. % Tomake large docurnent more readable | 92 STHgHT B ATEE Ta- 19 a1 o)

4 a’l;oﬁ%low page headers and footers appear on docurnent when printed | ZTggae T g4 W 09 0 g2 &1 G

Note: For this question, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 90 Question Id : 3354724820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS Excel 2007, you can check the conditions against __________ when applying conditional formatting. |
THTE UFEs 2007 H, 30 HE = BT w0 e a0 __________ %ﬁﬁ?@ﬁﬁ%fﬁmﬂmm
Options:

1. % Cell value only | &k @7 &7 AH
2. % Forrrula only | Rk g7
3. ¥ Both of above | IWigd gH!

4 % None of above | JRIFT H § BIE T51
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Question Number : 91 Question Id : 3354724821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following shortcut keys is used to double underline the selected text? | TRACTET & F @1 €
AMEae &, Telehe T TIT ST F1 Sl SSTee B o (o] SHa HTel &1 a1 87

Options:

1. % Ctrl + Shift + U
2 ¥ Ctrl + Shift + D
3. % Shift + U

4 % At + D

Question Number : 92 Question Id : 3354724822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The process of trading goods over the internet is known as: | §2{-¢ W adgH| & G & WieaT 1 W0 98 & F=7
~ATdT 5

Options:

1. % E-selling-n-buying | &-AfT-u-amm
2. % E-trading | T-2f20

3. ® E-finance | e-TE-d

4. % E-commerce | 3-%TAH

Question Number : 93 Question Id : 3354724823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hardware comporents that are capable of holding data and instraction either terr %arily Or perrancently are
amgm% ar

called_________ | o SRR dHHE, ST 2aT S gy U o H Ay B 8, g
|

Options:

1. ® input device | 37 1Zamd

2. % output device | ITYE ZaEd

3. % cormrnunication device | YR EaEd
4 ¥ storage device | §EitT fZasa

Question Number : 94 Question Id : 3354724824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The screen that recognizes touch input is: | @ G A1 oo $YL P g &
Options:

1. ® MNote pad | A==

2. ¥ Touch screen | T T

3. % android screen | UZTIE G

4 % Window screen | THEr g

Question Number : 95 Question Id : 3354724825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a language for computer programrming? | T # & 9 &t wHee FImE & g o
EUCEEEG
Options:
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1. ¥ windows | B=H
2 % Pascal | UTIEA
3. % Basic | =@

4. % Cobol | TETH

Question Number : 96 Question Id : 3354724826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Motherboard is also known as: | Aetaie @1 HHF T o off F=7 97 8

Options:

1. ¥ Electronic board | Seagi-w a1

2. ¢ Printed Circuit Ecard (PCE) | Tite |ide a2 (ditemn
3. % Combined device board | FHaES EaEa a2

4 % None of the above | IWied § 9 §7 T80

Question Number : 97 Question Id : 3354724827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the full form of USE? | USE %7 [06qd ¥7 47T 87

Options:

1. ¢ Universal Serial Bus | JHefa SiCe =6

2 % Universe Series Bus | If4a S ae

3. % Universal Sarmne Bus | JHadd 90 a9

4 % Uninterrupted Same Bus | eMge(lis 90 &9

Question Number : 98 Question Id : 3354724828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Excel 2007, editing group is availablein _______ tab. | THTE TFes 2007 H g go
TS EIAT 8]

=

Options:

1. % Home | 5§10
2. % Review | Tag
3. % Data | 227

4, % Page Layout | U #leae

Question Number : 99 Question Id : 3354724829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
___________ graphs are used o show the percentage ofa particular iterr. |

MTEeH F Wi o ®1 i ida Fe o Ty T =rmam 21
Options:

1. % Bar | a%

2. % Line | @A

3 ¥ Pie | UE

4. % Column | BTAA

Question Number : 100 Question Id : 3354724830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

21st Decl17 Shift 2



21st Decl17 Shift 2

Correct: 1 Wrong: 0

which of the following option in File pull down menu is used to close a MS Word 2007 document? | THIH a2
2007 ZTFgdT B &g 5 & o BI5d §a 2134 B H T & & Tore o w7 Junm femam =mar 87

Options:

1. % Cuit | e

2. ¥ Close | Farl

T ® Exit | Uigae
4 % MNew | g
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